—— A
N = 0] &F AF S & AN A
20158 &= 20l A LBHSIH S AICI ROt
S A S AICIAHQI D
HE: T ANLAY
Ce: ZHEAEAY (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
T Al CI XFQ! 2} 8,200,616 9,044,012 A 843,396
2 84,000
Xl 175,000
< 16,800
= 7,924,816
S AN ALS 3,935,848 4,746,011 A 810,163
2 84,000
Xl 175,000
= 16,800
= 3,660,048
DHEAIEAS 3,632,112 4,511,685 N 879,573
Xl 175,000
= 3,457,112
D22 HE 505, 185 406,335 98,850
201 et d| 5,185 5,135 50
01 AF 22| H| 5,185 5,135 50
ORg0Yd=2 A0 HE T2AE2E 1,035
OZAHEANE ABEDE 2,000,000 *23| 4,000
ONHEY SE+FHHE 3,000 *500H4 150
401 AlEHI 2L 2 0HY| 500,000 400,000 100,000
01 Al&H| 500,000 400,000 100,000
OZ 22| HE (JHEY] )+ HE=A 500,000
DHEZZOHA 1,660,977 353,500 1,307,477
201 et | 31,000 3,500 27,500
01 AP 22| d| 31,000 3,500 27,500
OHERASI £=2USX 2 15,000& *200 X| 3,000
OZHETZ AAHEQCI ANE2D= 8,000
OYxz 20,000
— ZRTHA(KAZE|Z2ZA) HHEZ2(HOIE =Xt
=) 20,000
401 Al HI L 2 0HHI 1,629,977 350,000 1,279,977
01 Al& H| 1,621,900 348,570 1,273,330
OZHEANEH AISXIOHY (0IE22X) 50,000
ONEOIIE & S2(A22-56) & 100,000
OSRZ~MNLAHE =XE E2H4 596,220
OMZEOIIIE~=H0ISOHIIEZ T2 A 80,000
oA EAFXE =4 297,840
Osdss~daadet 24 297,840
QUERE~HLEL S2HL (L AH) 100,000
OgHd oletdt o= et &X 50,000
Oz & AETZ HEZAH 50,000
03 Al 201 Y| 8,077 1,430 6,647
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X ZH
S =

S AICI RO 2t

ZAHE A EALS

(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OSR2~HLANE =XUHE =24
596,220,000& *0.63% 3,757
oAl ZAFIE X=d
300,000,000& *0.72% 2,160
Osdsate~&3dc 2L
300,000,000& *0.72% 2,160
= A 2 |RANES 298,750 223,750 75,000
206 M= Hl 3,750 3,750 0
01 M= 4l 3,750 3,750 0
OAINERZ 28E+8 St 2¢
25,000& 150 3,750
T AEHIZXEUY 295,000 220,000 75,000
01 A& HI 295,000 220,000 75,000
OAJIX 2= =8 &l (L=1.5km) 130,000
OANIXN £E2 A20tE =+ 75,000
OAIIX =2 M 2I[(L=3.0km) 80,000
OAIJEX & ZHIJIAF (L=5.0km) 10,000
s ==X 2HFMZ 250,000 0 250,000
Xl 175,000
[ia 75,000
401 AIEHIZL 20 250,000 0 250,000
Xl 175,000
[ia 75,000
01 A& Bl 248,210 0 248,210
BHAS SESAK BHSAY 248,210
Xl 175,000
s 73,210
03 A& SR THHI 1,790 0 1,790
OMAS SEZAX AL
248,569,000& *0.72% 1,790
B +8~-=303& 24 100,000 0 100,000
401 Al HIZ 201 Y] 100,000 0 100,000
01 A& HI 100,000 0 100,000
Oy =8-=30I32 T2 (&) 100,000
28 |X2e 817,200 748,100 69, 100
201 L2l 607,200 583,100 24,100
01 At 22l 700 600 100
ONzs B3+ 100,000& *32& 300
ONRE 248 M= o Mg 7
200,000& »2H 400
02 =24l 606,500 582,500 24,000
Otz E=xgd B2 500
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S AICI RO 2t
S ADHE A
T HEANEAMS

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
ON2sS HIMNER 50,000,000& x12& 600,000
EXXNEOI2EES) X
6,000,000 = 1CH 6,000
206 = Hl 40,000 40,000 0
01 M2 4l 40,000 40,000 0
OJES B+ I Y (HZL 9F) 40,000
401 Al& Bl & 28I 170,000 125,000 45,000
01 A& HI 170,000 125,000 45,000
Odln Jtz2s X 800,000& x50 40,000
OkL= 28 WHSAM 400,000& *50& 20,000
OY4d AIDJHAI LEDS WM S At 60,000
ON2s 862 WA ¥ E= 20,000
OSY+HIE F&XxH FHl 30,000
S A CIRQ! 1,800 4,860 A 3,060
S AICIRHQI 1,800 4,860 A 3,060
202 Oddl 1,800 2,160 A 360
01 =S LHAYI 1,800 2,160 A 360
O&ESAl CIXQ f==Atell HE2FE F HIX
o 60,0003 «3H 10 1,800
ASHF PR FA 301,936 229,466 72,470
= 84,000
< 16,800
s 201,136
A=HFYRFA 28,050 25,420 2,630
201 Let249] 6,250 3,620 2,630
01 At 22/l 6,250 3,620 2,630
Oget==EH| 200
— AP ¥Y L o NF 7Y
50,0003 »4H 200
OAEM HEAR =2 (AES2)
100,000& 50 A 5,000
OAEYHJOIAHe L SHASS &5 S
7,0003 «5H *30 1,050
202 Odl 1,800 1,800 0
01 = LH 4 Hi 1,800 1,800 0
OSHYHEE AT LUERHH(FY)
60,0003 «2H 152 1,800
402 RI2EX=201 M 20,000 20,000 0
01 It AL E X 20,000 20,000 0
O2sx8 NEXA (=0, =2, B4S
2=) 5,000,000& =44 2~ 20,000
SHE =HSEMEMY =8 50,000 50,000 0
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S SAIHEALS
Sl ABHWYLRET (B9 ®R)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
307 glz2tol & 50,000 0 50,000
02 RIZFE MM E X 50,000 0 50,000
ogl&E & 1,000,000& *50= 50,000
SAZBIEMY F=A 55,886 35,966 19,920
101 14l 2,886 2,766 120
04 JI2ZtHZ22 a2+ 2,886 2,766 120
O=2NHAU & SEHEES MAH A2
44,6403 4B x4 x4 3] 2,857
OdMMEE= 2,857,000& 1% 29
201 £B-2%H| 1,000 1,000 0
02 3323l 1,000 0 1,000
OSE+=UHNAIU SXBI(AME S 22])
50,0003 2000 2 1,000
401 AIEHIZ 201 8I 32,000 5,000 27,000
01 A& Bl 32,000 5,000 27,000
O =AAHAN &8 2 014
8,000,000 *40H 2~ 32,000
402 RIZEXtE0| A 20,000 20,000 0
01 It = AP E XL 20,000 20,000 0
O=22Z0s SHEPI(FUANERL )W A2t
o &X K& 1,000,000 *20H 4 20,000
Zd0E HelAte 168,000 118,080 49,920
= 84,000
< 16,800
[ia 67,200
403 XIS E X201 & 168,000 118,080 49,920
= 84,000
< 16,800
[ia 67,200
02 S| 2SI CHSHCH & A B 168,000 118,080 49,920
OZd0lE HelAd 3,360,000& x50= 168,000
= 84,000
= 16,800
i 67,200
Hd=F Ns=s 3 4,084,168 4,122,803 A 38,635
WSCHEANEZE &5 693,780 611,904 81,876
WSHMAILE X & B+ 693,780 611,904 81,876
201 Let24dy] 125,600 125,600 0
01 At 22/l 6,000 6,000 0
OLSCHEANES Alted 5,000
OusAnuYg 22 £X 1,000,000& 13l 1,000
02 8323l 119,600 119,600 0
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MY Mo DESS NE

CHelr DEUMAME 2B (el @2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O332= & HA 69,600
~DSUES ¥ RS ®I| AB2
3,000,000& x12& 36,000
—WESYHS CCTVAHY MES
70,0003 #4032 & x12& 33,600
QUSHFEALE(LEE JtHet cctv S) FA
2=l 50,000
401 AIEHIZL 20 568,180 486,304 81,876
01 A& Bl 566,020 484,000 82,020
OgdE & UHEYS CCTV X1 & dsHe 300,160
—SHE CCTV &sHA (X HS QAL
40,000,000 *50H 2 200,000
— 4R BHEE CCTV £
20,000,000& *4H A 80,000
— 9488 CCTV RAE=S 560,000 *36H 2 20,160
OUEMAIEE (BAES) &X £ wA 185,860
—XdAHS 35,0002 *30074 10,500
— EZ2EAtE 400, 000& 504 20,000
— WS EIH 400, 000& 504 20,000
- &&J| &X 10,000,000 14 A& 10,000
—Z88 &X 10,000,000 *2H A 20,000
- &2 HXNY 4X 40,0003 *2,634H 105,360
OAMNXNRECM(ZES 2 95H) 80,000
03 AlE S THHI 2,160 2,304 A 144
OYYHE & IHEHS CCTV X ¥ s
200,000,000& *0.72% 1,440
OAMIMX LM (Z2E 2 95H)
80,000,000& *0.90% 720
HU2ESEN =S 3,294,708 3,264,619 30,089
MHE X 1,744,708 1,764,619 A 19,911
101 @14 dl 23,808 21,019 2,789
04 JIZHHZ2XNHEE S 23,808 21,019 2,789
O8X &L HU-d WsZ ZAH38IML-H)
44 6403 «70H 7L 21,874
OdMMEE= 21,874,000& x1% 219
Ounsg ZAHE 2HAH| 3,500 «70F 7 1,715
301 et A3z 900 0 900
09 AL HIE &S 900 0 900
O2=3ALN 1= 1,500& 600X 900
307 izl & 1,710,000 1,743,600 A 33,600
02 IZtE M AHE X 10,000 10,000 0
OZ3E2H0Ig Y Azdl N
2,000,000 x50 2 10,000
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MM == WES3 H=
SR HASSEAN =Y EERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
09 2LHHEXZ 1,700,000 1,733,600 A 33,600
QX =ABAZS(17HEA) 500,000
OFXNE=HRIMNEH)E SHEHA HEXKZ2 1,200,000
402 SI2FAHE0| M 10,000 0 10,000
01 QIZEXIEAIE 2 X 10,000 0 10,000
O22g01Y &dMHe X
2,000,000 *5JH A 10,000
SIHEEXZ X3 1,500,000 1,500,000 0
307 2Iz2t0| & 1,500,000 1,500,000 0
09 2L AHEXZ2 1,500,000 1,500,000 0
OXNsx 24 KIIE A 1,500,000
HA OSXNE OISEA gs5HE A 50,000 0 50,000
307 giztol A 50,000 0 50,000
02 QIZ2IA AAIE E X 50,000 0 50,000
O1008 Al S2AS 80,000& *625H 50,000
NEHEHE NE 95,680 246,280 A 150,600
SHAIE WEXHA 24,993 27,663 AN2,670
201 2Et24A Y| 15,873 16,923 A 1,050
01 AP 22| d| 9,750 10,800 A 1,050
Ogbt=2H| 500
— AL DESEMH SE AU (LHI2, 5 2¢t
INs) 500
o2 & 4l 5,250
—YE Y AS YA DSXE
7,000 10 25 1,750
—HEHUHEAI WSS
7,0009 20 10 1,400
— E2ZAF HAISEM RESXE
7,000 x20H 15! 2,100
OHMINEE FEI| 2L 500, 000& *x5CH 2,500
OYdxz 1,500
—dAoxg dx= 100,000 ~15CH 1,500
02 32%H| 6,123 6,123 0
OS2 282 650,000 = 1CH 650
OXNE SR XHEH| 5,473,000 «1CH 5,473
301 et A= 9,120 10,740 N 1,620
09 HAIAHI BEAZ 9,120 10,740 A 1,620
OBE WEXNT XNF2AX 34!
7,000 30 x24I x3 23| 2,520
OgHd HMEsAI NSANE NISAX 24
7,000 x50H x2A! 3L 2,100
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Nu: HaE DESs HE
@49 Nsdd N& (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OS2 AL & At SH WSXE THESALL =
Al 7,000 «50H »2A! «3 2,100
OLLSEHA(LE W HEXN 2SS A
SAH(A - B 40,000 *30H »23] 2,400
=8 =X o= 26,879 173,729 A 146,850
101 @124 Hl 17,679 23,021 Nb5,342
04 JIZHHZ2XREES 17,679 23,021 N5,342
OCCTV At E= 2 CiolEf el
44 6403 x1H » 120 5,357
OXsx LHE LdMEel & A=Y
44 6403 x1H 120 5,357
OFFXUNEHEEE o2y
44,6403 x1H 120 5,357
o4tz 16,071,000 *10% 1,608
201 -4 9,200 9,700 A 500
01 At 22l 3,200 3,700 A 500
OgBt=&H| 2,000
—UEHEZFT 2 FT(ESE 2 88) 500
—FEXN=A AHE M 100,000 =154 1,500
OwEXNE &= I=hl 200,000& 6% 1,200
02 2324l 6,000 6,000 0
OSYFEX RS AAHE 5 RAES
500,000& =128 6,000
AsI2E L Hel 43,808 44,888 A1,080
201 Let24E] 39,608 38,888 720
01 At 2t 2l 3,500 3,500 0
OXNSXUENE DM H=E 3,500
~NEXNSEEE L S2HU HE
100& *8, 000 0K 800
— s 28 WEHE DXNM ME 1,500
REH MEHE (28 )X A
100,000 »55F A 500
- HIIZA BEHHZE(2B)D KA
100,000 »55F A 500
FEX HEHE(28)D XA
100,000& x5 A 500
— NS X ZFIIZAL 28 eHHE M=
100& %12,0000H 1,200
02 =224l 36,108 35,388 720
OXsit&d ez L ot B3 23,388
—oteH 2703 1,500+ 123 4,860
—3sJ<d 1,930& 800 122 18,528
OSMZBEZOY SFANE= 300,000& »12& 3,600
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Hu: guE DS2s HE
-
<

Sl DEBF X CERED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OXNSXUEHSUAHAUN LI ELLHAIABM R E
400,000& 12& 4,800
SE/I=PNSIYPN-T INE-LTIENN ]
300,000& x12& 3,600
OSAME g2 F& Sae3 60,000& x12& 720
202 04| 4,200 6,000 A 1,800
01 2L Y] 4,200 6,000 A 1,800
OXSA 23 AAIA SA(ZFELEReH&
) 60,000 1 x50 3,000
ORI & RS2 OHE JASKA
Mol (E=) 60,000& »2H x10 1,200
HMSHAHI (ZAICI R 180,600 175,198 5,402
ol 2AY| 95,256 92,985 2,271
ol 4| 95,256 92,985 2,271
101 @121l 95,256 88,785 6,471
01 2 91,588 85,303 6,285
OANZRAI22E HHE2(21H) 22,534
— 53 11,5913 x 1H x10A| 2+ x12& 1,391
— 62 9,886& 4P x10A| 2t*12& 4,746
72 8,930& *10Y x10A| 2t x12& 10,716
— 83 8,017&*5H «10A| 2+ 128 4,811
- 92 7,247 *1H x10A| 2tx12& 870
Oxx22LE 9,134 x21H *30A| 2+ x 128 69,054
02 JIEt& B % 3,668 3,482 186
OFHIAFEH (1Y) 3,668
—AZ2t2f4 7,641 1L x10A| 2tx 128 917
—ZU22xE 7,6413 *1H x30A| 2tx12& 2,751
JlE& bl 85,344 82,213 3,131
&l 85,344 82,213 3,131
201 YEr2 Y| 47,084 47,973 889
01 AFR2t2l bl 42,416 43,055 A 639
OgbtL2H S XA A 21,806
OZ2 & SHHA A 20,610
02 533294l 4,668 4,918 N 250
Oy B8 560
= == 360,000& = 1CH 360
— MO XS Xt 200,000& = 1CH 200
OxXdl (EsE) 2,100, 000& = 1CH 2,100
OZ2=22IgZER dMII= 80,000& x12& 960
OMSA 8 AZH|
1,310& %24 *4A|2t*100L 1,048
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SN SAICIXQ! D
M HE2HAHI(ZAICIXQID)

@2 Jl2&tl (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2

202 0db] 34,060 34,240 A 180

01 2LHOHI 28,660 28,840 A 180
OZLHAHHI(2tLH) 17,320
O=2UWod (&2) 11,340

02 MY 5,400 5,400 0
OJt28 248t 150,000& x2H 12 3,600
Ousi=Edx 150,000& *1H x12& 1,800

203 &R =&H| 4,200 0 4,200

04 EANSHLRF=AH| 4,200 0 4,200
ORANSELERFAL| 350,000& x12& 4,200
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